
CHILDREN'S
GO KART

341-027

• Suitable for 3+ years
• Maximum user weight: 30kg
• Adult assembly required

OWNER'S MANUAL

OWNER'S MANUAL
Read and understand this entire manual before using!

Please keep this manual for future reference as it contains important
information.

Read and understand this entire manual before using!



Table of Contents

1. About Your New Vehicle

2. Parts List

3. Assembly Steps

4 How To Operation Your Vehicle

5. Maintaining Your Vehicle

About Your New Vehicle
Thank you for purchasing our products, we wants your child to enjoy this product for years to come.

Keep these points in mind as you read this guide:

Suitable age: 3+ years
Load Capacity: Under 30Kg
Size of car: 800*490*500mm
Carton size: 800*250*510mm

Material: PP,IRON Optimum
Temperature:

Below 40°C
Avoid to use under burning sun

WARNING!
FOR THE SAFETY OF YOUR CHILD, PLEASE READ ALL WARNINGS AND
ASSEMBLY/USE INSTRUCTIONS. KEEP THIS GUIDE FOR FUTURE REFERENCE.

• ADULT ASSEMBLY REQUIRED. The product contains small parts, which are for
adult assembly only. Keep small children away when assembling.

• Always remove protective material and poly bags and dispose before assembly.



Parts List

PART
NO

PART
NAME PICTURE Q,ty

(pcs) REMARKS PAR
T
NO

PART
NAME PICTURE Q,ty

(pcs) REMARKS

1 Vehicle
body 1 2 Seat 1

3 Steering
wheel 1 4 Panel 1

5 Linear tube 1 6 Steering
shaft 1

7 Panel
fixed 1 8 M5x55

bolt 2

9 M5x40
bolt 1 10 M5Nut 2

11 M5X14
washer 2 12 M5nut 1

13 M4X10
screw 4 14 Instruction

manual 1



Assembly Steps

1.Put the steering shaft through the

hole at the lower front of the

Vehicle.hook the steering shaft into

the turning axle.

2.Put the Linear tube on the steering

shaft.

3.Place the steering wheel throught

the steering shaft and fix into place

with M5*40 screw, the lock into place

with 5mm nut.



Assembly Steps

5. Fix the seat to the frame of the Vehicle

using M5*55mm bolts, ensure to use

washers again where appropriate

4.To fit the Panel to the frame ensure

the 2 screw holes on Panel and frame

are aligned.Tighten with M4*10

screw.--b

Attach Panel fixed with M4x10 screw.--c



How To Operate Your Vehicle

Must confirm before using that following work which is already finished:
• Finishing the complete car to assemble according to the steps that the manual described.
• All places to need the screw guarantee the screw has already been locked.

Rules for Safe Riding
READ THESE RULES ALOUD TO YOUR CHILD AND THEIR PLAYMATES AND MAKE
SURE THEY UNDERSTAND THEM!
• This toy is no break.Always wear a helmet and protective clothing when riding.
• Direct Adult Supervision Required.
• Keep Children within Safe Riding Areas.
• Never driving in roadway, near motor vehicles, on lawn space, on near steep inclines or steps,
swimming pools or other bodies of water.

• Use the toy only on flat surfaces. such as inside your house, garden or playground.
• Never use in the dark. A child could encounter unexpected obstacles and have an accident. Operate the
vehicle only in the daytime or a well-lit area.

• It is not recommended to drive the vehicle on wet surfaces or on lopes of greater than 15 degrees.
• Do not use this vehicle outdoors when it is raining or snowing.
• Make sure you come to a complete stop before changing directions from forward to back.
• Please follow the correct weight and age limits allowed to drive this vehicle.
• Inspect connections of the vehicle periodically.
• In order to avoid accidents, please ensure the vehicle is safe before riding.
• Do not let any child touch the wheels or be near them when the car is moving .

WARNING!
PREVENT INJURIES AND DEATHS:
• NEVER LEAVE CHILD UNATTENDED. DIRECT ADULT SUPERVISION
IS
REQUIRED. Always keep child in view when child is in vehicle.

• Never use in roadways, near cars, on or near steep inclines or steps,
swimming pools or other bodies of water.

• Always wear shoes.
• Always sit on the seat.
• Suitable for age 3+years; Maximum user weight is 30kgs.
• Not to be used in traffic
• A recommendation for adult supervision of young children.
•The toy should be used with caution since skill is required to avoid falls or collisions
causing injury to the user or third parties.



Maintaining Your Vehicle
• It is parents' responsibility to check main parts of the toy before using, Must regularly examine for potential
hazard, such as screws are fastening enclosure of other parts and that in the event of such damage, the
toy must not be until that damage had been properly removed.

• Make sure the plastic parts of the vehicle are not cracked or broken.

• Occasionally use a lightweight oil to lubricate moving parts such as wheels.

• Park the vehicle indoors or cover it with a tarp to protect it from wet weather.

• Keep the vehicle away from sources of heat, such as stoves and heaters. Plastic parts may melt.

• Do not wash the vehicle with a hose. Do not wash the vehicle with soap and water.

• Clean the vehicle with a soft, dry cloth. To restore shine to plastic parts, use a non-wax furniture polish. Do
not use car wax. Do not use abrasive cleaners.

• Do not drive the vehicle in loose dirt, sand or fine gravel which could damage moving parts。

Our products are suitable for
EN71 standard.



GO-KART POUR ENFANTS

341-027

• Convient pour 3 ans et plus

• Poids maximum de l'utilisateur : 30 kg

• Assemblage par un adulte requis

LE MANUEL DU PROPRIÉTAIRE

Lisez et comprenez tout ce manuel avant de l’utiliser !

Veuillez conserver ce manuel pour référence ultérieure car il contient des

informations importantes.



Table des matières

1. À propos de votre nouveau véhicule
2. Liste de pièces
3. Etapes d'assemblage
4 Comment utiliser votre véhicule
5. Entretien de votre véhicule

À propos de votre nouveau véhicule
Merci d'avoir acheté nos produits, nous souhaitons que votre enfant profite de ce produit pendant
des années.
Gardez ces points à l'esprit lorsque vous lisez ce guide :

Âge approprié : 3 ans et plus

Capacité de
charge :

moins de 30 kg

Taille de voiture : 800 * 490 * 500mm

Taille du carton : 800 * 250 * 510mm

Matériel : PP, FER Température
Optimum :

moins de 40° Évitez
d'utiliser sous le soleil
brûlant

ATTENTION!

POUR LA SÉCURITÉ DE VOTRE ENFANT, VEUILLEZ LIRE TOUS LES AVERTISSEMENTS ET
INSTRUCTIONS DE MONTAGE / UTILISATION. CONSERVER CE GUIDE POUR RÉFÉRENCE
ULTÉRIEURE.
• ASSEMBLAGE PAR UN ADULTE REQUIS. Le produit contient des petites pièces destinées à un
montage adulte seulement. Gardez les petits enfants à l’écart lors du montage.
• Toujours enlever les matériaux de protection et les sacs en polyéthylène ainsi que les jeter avant le
montage.



Liste des pieces

PART
IE No

NOM DE
LA PIÈCE IMAGE REMAR

QUES

PART
IE No

NOM DE
LA PIÈCE IMAGE Qté

(pcs) REMAR

QUES

1
carrosseri

e
2 siège 1

3 Volant 4 Panneau 1

5
Tube
linéaire

6
Arbre de
direction 1

7
panneau
fixe

8
M5x55
boulon

2

9
M5x40
boulon

10 M5 écrou 2

11
M5X14
rondelle

12 M5 écrou 1

13 M4X10 vis 14
Manuel
d’instructi

on
1



Étapes d’assemblage

1. Faites passer l’arbre de direction par le trou situé à
l’avant inférieur du véhicule. Accrochez l’arbre de
direction à l’essieu tournant.

2. Placez le tube linéaire sur l’arbre de direction.

3. Placez le volant dans l’arbre de direction et
fixez-le en place avec la vis M5 * 40, le verrou en
place avec un écrou de 5 mm.



Étapes d’assemblage

4. Pour installer le panneau sur le cadre, assurez-vous
que les 2 trous de vis du panneau et du cadre sont
alignés. Serrer avec la vis M4 * 10. (b) Fixez le
panneau fixé avec la vis M4x10. (c).

5. Fixez le siège au châssis du véhicule en utilisant des boulons M5 * 55mm, assurez-vous
d’utiliser à nouveau les rondelles le cas échéant



Comment utiliser votre véhicule
ATTENTION!
PREVENIR LES BLESSURES ET LES DECES:
• NE JAMAIS LAISSER UN ENFANT SANS SURVEILLANCE. LA SURVEILLANCE DIRECTE DES
ADULTES EST
CHAMPS OBLIGATOIRES. Toujours garder l'enfant à la vue quand il est dans le véhicule.
• Ne jamais utiliser sur les routes, près des voitures, sur ou près de fortes pentes ou marches,
piscines ou autres étendues d'eau.
• Portez toujours des chaussures.
• Asseyez-vous toujours sur le siège.
• Convient à l'âge de 3 ans et plus; Le poids maximum de l'utilisateur est de 30 kg.
• Ne pas utiliser dans le trafic
• Une recommandation pour la surveillance par un adulte de jeunes enfants.
• Le jouet doit être utilisé avec prudence, car il est nécessaire d’être habile pour éviter les chutes
ou les collisions causant des dommages à l'utilisateur ou à des tiers.

Doit être confirmer et vérifier afin d'utiliser le matériel :
• Finition de la voiture complète, à assembler selon les étapes décrites dans le manuel.
• Tous les endroits où les vis sont nécessaires, observation que les vis ont bien été verrouillées et
vissées.

Règles pour une conduite sûre
LISEZ CES RÈGLES À VOTRE ENFANT ET À LEURS COMITÉS DE JEU ET ASSUREZ-VOUS QU'ILS
LES COMPRENNENT !
• Ce jouet ne fait pas de pause. Portez toujours un casque et des vêtements de protection lorsque
vous conduisez.
• Supervision directe d'un adulte requise.
• Gardez les enfants dans des endroits sûrs.
• Ne jamais conduire sur une chaussée, à proximité de véhicules motorisés, sur une pelouse, sur
des pentes ou des marches escarpées, piscines ou autres étendues d'eau.
• Utilisez le jouet uniquement sur des surfaces planes, comme à l’intérieur de votre maison, de
votre jardin ou de votre terrain de jeux.
• Ne jamais utiliser dans le noir. Un enfant peut rencontrer des obstacles inattendus et avoir un
accident. Actionner le véhicule uniquement pendant la journée ou dans une zone bien éclairée.
• Il est déconseillé de conduire le véhicule sur des surfaces mouillées ou des pentes de plus de 15
degrés.
• N'utilisez pas ce véhicule à l'extérieur lorsqu'il pleut ou qu'il neige.
• Assurez-vous de vous arrêter complètement avant de changer de direction d'avant en arrière.
• Veuillez respecter les limites de poids et d’âge autorisées à conduire ce véhicule.
• Inspectez les connexions du véhicule périodiquement.
• Afin d'éviter les accidents, veuillez vous assurer que le véhicule est en sécurité avant de conduire.
• Ne laissez aucun enfant toucher les roues ou rester à proximité lorsque la voiture est en
mouvement.

Entretien de votre véhicule

• C’est la responsabilité des parents de vérifier les parties principales du jouet avant de l’utiliser, il



faut en examiner régulièrement les parties tels que les vis fixent le boîtier d’autres pièces et que,
en cas de dommages, le jouet ne doit pas être utilisé jusqu'à ce que le dommage a été correctement
réparé..

• Assurez-vous que les pièces en plastique du véhicule ne sont ni fissurées ni cassées.

• Utilisez parfois une huile légère pour lubrifier les pièces mobiles telles que les roues.

• Garez le véhicule à l'intérieur ou recouvrez-le d'une bâche pour le protéger des intempéries.

• Tenez le véhicule à l'écart des sources de chaleur, telles que les poêles et les appareils de
chauffage. Les pièces en plastique peuvent fondre.

• Ne lavez pas le véhicule avec un tuyau. Ne lavez pas le véhicule avec de l’eau et du savon.

• Nettoyez le véhicule avec un chiffon doux et sec. Pour redonner de la brillance aux pièces en
plastique, utilisez un poli à meubles sans cire. Ne pas utiliser de cire de voiture. Ne pas utiliser de
nettoyants abrasifs.

• Ne conduisez pas le véhicule dans de la terre, du sable ou du gravier fin qui pourraient
endommager les pièces en mouvement

Nos produits conviennent à la norme EN71.



KINDER
GO KART

341-027

 Geeignet für mehr als 3 Jahre
 Maximales Benutzergewicht: 30kg
 Montage durch Erwachsene erforderlich

BEDIENUNGSANLEITUNG DES BESITZERS
Lesen und verstehen Sie diese Bedienungsanleitung vor Gebrauch!

Bitte bewaen Sie dieses Handbuch zum späteren Nachschlagen
auf, da es wichtige Informationen enthält.

and understand this entire manual before using!



Inhaltsverzeichnis

1. Über Ihr neues Fahrzeug

2. Stückliste

3. Montageschritte

4 So bedienen Sie Ihr Fahrzeug

5. Wartung Ihres Fahrzeugs

Über Ihr neues Fahrzeug
Vielen Dank, dass Sie sich für unsere Produkte entschieden haben, wir möchten, dass Ihr
Kind dieses Produkt über Jahre hinweg genießen kann. Beachten Sie diese Punkte, wenn
Sie diese Anleitung lesen:

Angemessenes Alter: 3+ Jahre

Tragfähigkeit : Under 30Kg

Größe des Autos: 800*490*500mm

Kartongröße: 800*250*510mm

Material: PP,IRON
Optimal

Temperature:

Unter 40°C
Vermeiden Sie die
Verwendung unter
brennender Sonne.

WARNING!
FÜR DIE SICHERHEIT IHRES KINDES LESEN SIE BITTE ALLEWARNUNGEN UND HINWEISE.
MONTAGE-/BENUTZUNGSANLEITUNG. BEWAHREN SIE DIESE ANLEITUNG ZUM SPÄTEREN
NACHSCHLAGEN AUF.

• MONTAGE FÜR ERWACHSENE ERFORDERLICH. Das Produkt enthält Kleinteile, die für die
Herstellung von nur für Erwachsene. Halten Sie kleine Kinder beim Zusammenbau fern.
• Entfernen Sie immer Schutzmaterial und Polybeutel und entsorgen Sie diese vor der Montage.



Stückliste
Teilnu

mmer
Teilname Bild Menge

（Stück)
Teilnu
mmer

Teilname Bild Menge
（Stück)

1
Fahrzeugk
arosserie

1 2 Sitz 1

3 Lenkrad 1 4 Pedal 1

5 Linearrohr 1 6 Lenkwell
e 1

7
Platte
fixiert

1 8
M5x55
Schraub

e
2

9
M5x40
SChraube

1 10 M5Mutter 2

11
M5X14

Unterlegsc
heibe

2 12
M5Mutter

1

13 M4X10
Schraube

4 14
Bedienun
gsanleitun

g
1



Montageschritte

1. Stecken Sie die Lenkwelle durch das

Loch an der unteren Vorderseite des

Fahrzeugs. Haken Sie die Lenkwelle in

die Drehachse ein.

2. Setzen Sie das Linearrohr auf die

Lenkwelle.

3. Das Lenkrad durch die Lenkwelle

stecken und mit Schraube M5*40

befestigen, die Sicherung mit Mutter

5mm.



Assembly Steps

5. Befestigen Sie den Sitz am Rahmen des

Fahrzeugs.

mit Schrauben M5*55mm, stellen Sie

sicher, dass Sie gegebenenfalls wieder

Unterlegscheiben verwenden.

4. Um das Panel am Rahmen zu

befestigen, vergewissern Sie sich, dass

die beiden Schraubenlöcher an Panel

und Rahmen ausgerichtet sind und

ziehen Sie sie mit der Schraube M4*10

an.

Platte mit Schraube M4x10 befestigen.

--c



So bedienen Sie Ihr Fahrzeug

Muss vor der Verwendung der folgenden, bereits abgeschlossenen Arbeiten bestätigt werden:
 Fertigstellung des kompletten Wagens zur Montage gemäß den Schritten, die im Handbuch

beschrieben sind.
 Alle Stellen, an denen die Schraube benötigt wird, garantieren, dass die Schraube bereits

verriegelt ist.

Regeln für sicheres Fahren
LESEN SIE DIESE REGELN IHREM KIND UND SEINEN SPIELKAMERADEN LAUT VOR UND
MACHEN SIE ES SICH BEQUEM.

SICHER, DASS SIE SIE VERSTEHEN!
 Tragen Sie beim Fahren immer einen Helm und Schutzkleidung.
 Direkte Aufsicht für Erwachsene erforderlich.
 Halten Sie Kinder in sicheren Fahrgebieten.
 Niemals in Fahrbahnen, in der Nähe von Kraftfahrzeugen, auf Rasenflächen, in der Nähe

von steilen Steigungen oder Treppen fahren, schwimmbäder oder andere Gewässer.
 Verwenden Sie das Spielzeug nur auf ebenen Flächen, z.B. in Ihrem Haus, Garten oder

Spielplatz.
 Niemals im Dunkeln verwenden. Ein Kind könnte auf unerwartete Hindernisse stoßen

und einen Unfall erleiden. Bedienen Sie die fahrzeug nur tagsüber oder in einem gut
beleuchteten Bereich.

 Es wird nicht empfohlen, das Fahrzeug auf nassen Oberflächen oder in Hanglagen von
mehr als 15 Grad zu fahren.

 Verwenden Sie dieses Fahrzeug nicht im Freien, wenn es regnet oder schneit.
 Stellen Sie sicher, dass Sie vollständig zum Stillstand kommen, bevor Sie die Richtung

von vorne nach hinten ändern.
 Bitte beachten Sie die korrekten Gewichts- und Altersgrenzen, die für das Führen dieses

Fahrzeugs gelten.
 Überprüfen Sie regelmäßig die Verbindungen des Fahrzeugs.
 Um Unfälle zu vermeiden, stellen Sie bitte sicher, dass das Fahrzeug vor der Fahrt sicher

ist.
 -Lassen Sie kein Kind die Räder berühren oder in deren Nähe sein, wenn sich das

Fahrzeug bewegt.

WARNUNG!
VERLETZUNGEN UND TODESFÄLLE ZU VERMEIDEN:
LASSEN SIE DAS KIND NIEMALS UNBEAUFSICHTIGT. DIREKTE AUFSICHT VON
ERWACHSENEN IST ERFORDERLICH. Halten Sie das Kind immer im Blick,
wenn sich das Kind im Fahrzeug befindet.

 Niemals in Fahrbahnen, in der Nähe von Autos, an oder in der Nähe von steilen Steigungen oder Treppen verwenden,

 Schwimmbäder oder andere Gewässer.

 Tragen Sie immer Schuhe.

 Setz dich immer auf den Sitz.

 Geeignet für Alter 3+Jahre; Das maximale Benutzergewicht beträgt 30 kg.

 Nicht im Verkehr zu verwenden

 Eine Empfehlung für die Betreuung von Kleinkindern durch Erwachsene.

 Das Spielzeug sollte mit Vorsicht verwendet werden, da Geschicklichkeit erforderlich ist, um Stürze oder Kollisionen zu vermeiden.

verletzungen des Benutzers oder Dritter verursachen.



Maintaining Your Vehicle
 Es liegt in der Verantwortung der Eltern, die wichtigsten Teile des Spielzeugs vor dem

Gebrauch zu überprüfen, muss regelmäßig auf mögliche Fehler untersucht werden.
Gefahr, wie z.B. Schrauben, sind Befestigungsgehäuse anderer Teile und dass im Falle
einer solchen Beschädigung die Spielzeug darf erst dann verwendet werden, wenn
dieser Schaden ordnungsgemäß behoben wurde.

 Stellen Sie sicher, dass die Kunststoffteile des Fahrzeugs nicht beschädigt sind.

 Verwenden Sie gelegentlich ein leichtes Öl, um bewegliche Teile wie Räder zu
schmieren.

 Parken Sie das Fahrzeug drinnen oder bedecken Sie es mit einer Plane, um es vor
nassemWetter zu schützen.

 Halten Sie das Fahrzeug von Wärmequellen wie Öfen und Heizungen fern.
Kunststoffteile können schmelzen.

 Waschen Sie das Fahrzeug nicht mit einem Schlauch. Waschen Sie das Fahrzeug nicht
mit Wasser und Seife.

 Reinigen Sie das Fahrzeug mit einem weichen, trockenen Tuch. Um Kunststoffteilen
wieder Glanz zu verleihen, verwenden Sie eine wachsfreie Möbelpolitur. Tun
verwenden sie kein autowachs. Verwenden Sie keine scheuernden Reinigungsmittel.

 Fahren Sie das Fahrzeug nicht in losem Schmutz, Sand oder feinem Kies, der die
Bewegung beeinträchtigen könnte parts。

Unsere Produkte sind geeignet für
EN71 Standard.



GO KART
341-027

• Adatto per anni 3+
• Carico massimo: 30kg
• Richiesto assemblaggio da adulto

MANUALE D’ISTRUZIONI

MANUALE D’ISTRUZIONI
Read and understand this entire manual before using!

Si prega di conservare questo manuale per riferimenti futuri.

Read and understand this entire manual before using!



Sommario

1. Informazioni

2. Elenco parti

3. Step di assemblaggio

4 Utilizzo

5. Manutenzione

Informazioni
Grazie per aver acquistato il nostro prodotto, vogliamo che tuo figlio possa utilizzarlo per gli anni a venire.

Tiene a mente questi punti mentre leggi la guida:

Età: Anni 3+
Carico: 30Kg

Dimensione: 800*490*500mm
Confezione: 800*250*510mm

Materiale: PP,FERRO Temperatura: Sotto 40°C
Evitare l’uso nelle ore più calde

ATTENZIONE!
PER LA SICUREZZA DEL TUO BAMBINO, LEGGERE TUTTE LE AVVERTENZE E

ISTRUZIONI DI MONTAGGIO / USO. CONSERVARE QUESTA GUIDA PER RIFERIMENTI
FUTURI.

• ASSEMBLAGGIO ADULTO RICHIESTO. Il prodotto contiene piccole parti, che devono essere
montate solo da adulti. Tenere lontani i bambini durante il montaggio.
• Rimuovere sempre il materiale protettivo e le buste di plastica e smaltire prima del montaggio.



Elenco parti

N.
parte NOME IMMAGINE Q.tà N.

parte NOME IMMAGINE Q.tà NOTE

1 Corpo 1 2 Sedile 1

3 Volante 1 4 Pannello 1

5 Tubo

lineare
1 6 Albero

sterzo 1

7 Pannello
fisso 1 8 Bullone

M5x55 2

9 Bullone
M5x40 1 10 Dado M5 2

11 Rondella
M5x14 2 12 Dado M5 1

13 Vite
M4x10 4 14 Manuale

istruzioni 1



Montaggio

1.Mettere l'albero dello sterzo

attraverso il foro sul lato anteriore

inferiore del veicolo.Avvitare l'albero

dello sterzo sull'asse girevole.

2. Inserire il tubo lineare sull'albero

dello sterzo.

3. Posizionare il volante attraverso

l'albero dello sterzo e fissarlo in

posizione con la vite M5 * 40,

bloccandolo in posizione con un dado



Montaggio

5. Fissare il sedile al telaio del veicolo

utilizzando bulloni M5 * 55mm,

assicurarsi di utilizzare nuovamente le

rondelle, se necessario

4. Per montare il pannello sul telaio,

verificare che i 2 fori delle viti sul

pannello e sul telaio siano allineati.

Serrare con la vite M4 * 10.-- b

Fissare il pannello fissato con vite

M4x10.-- c



Utilizzo

È necessario fare queste confermare prima dell’uso:
• Finitura della macchina completa assemblata secondo i passaggi descritti dal manuale.
• Bisogna aver usato una vite in tutti i punti necessari.
Regole per la guida sicura

LEGGI QUESTE REGOLE AD ALTA VOCE PER IL TUO BAMBINO E I SUOI COMPAGNI E ASSICURATI CHE CAPISCANO!

• Indossare sempre un casco e indumenti protettivi durante la guida.

• Supervisione diretta degli adulti richiesta.

• Tenere i bambini all'interno di aree di guida sicure.

• Non guidare mai in carreggiata, vicino a veicoli a motore, in spazi verdi, su pendenze o gradini ripidi,

piscine o altri specchi d'acqua.

• Utilizzare il giocattolo solo su superfici piane

• Non usare mai al buio. Un bambino potrebbe incontrare ostacoli imprevisti e avere un incidente. Operare il

veicolo solo di giorno o in una zona ben illuminata.

• Si sconsiglia di guidare il veicolo su superfici bagnate o con punte superiori a 15 gradi.

• Non utilizzare questo veicolo all'aperto quando piove o nevica.

• Assicurati di fermarti completamente prima di cambiare il senso di marcia.
• Si prega di seguire il peso e i limiti di età consentiti per guidare questo veicolo.
• Ispezionare periodicamente i collegamenti del veicolo.
• Al fine di evitare incidenti, si prega di assicurarsi che il veicolo sia sicuro prima di guidare.
• Non lasciare che alcun bambino tocchi le ruote o si trovi vicino a loro quando il go kart è in moviment

ATTENZIONE!
PREVENZIONE LESIONI E MORTE:
• NON LASCIARE MAI IL BAMBINO NON SUPERVISIONATO.

Tenere sempre in vista il bambino quando il bambino è nel veicolo.
• Non usare mai in strade, vicino a macchine, sopra o vicino a pendenze o

gradini ripidi,
piscine o altri specchi d'acqua.
• Indossare sempre scarpe.
• Sedersi sempre sul sedile.
• Adatto per età 3 + anni; Il peso massimo dell'utente è 30 kg.
• Non utilizzare nel traffico

• Una raccomandazione per la supervisione di un bambino in età adulta.
• Il giocattolo deve essere usato con cautela poiché è richiesta abilità per evitare cadute o

collisioni
causando lesioni all'utente o a terzi.



Manutenzione
• È responsabilità dei genitori controllare le parti principali del go kart prima dell'uso, ed esaminarne
regolarmente le potenzialità di
pericolo, come le viti che fissano le varie parti e in caso di danno, impedirne l’utilizzo fino a che il danno non

sia stato riparato.

• Assicurarsi che le parti in plastica del veicolo non siano incrinate o rotte.

• Occasionalmente utilizzare un olio per lubrificare parti mobili come le ruote.

• Parcheggiare il veicolo all'interno o coprirlo con un telo per proteggerlo dalle intemperie.

• Tenere il veicolo lontano da fonti di calore, come stufe e termosifoni. Le parti in plastica possono fondere.

• Non lavare il veicolo. Non lavare il veicolo con acqua e sapone.

• Pulire il veicolo con un panno morbido e asciutto. Per ridare lucentezza alle parti in plastica, utilizzare un
lucido per mobile.
Non usare la cera per auto. Non usare detergenti abrasivi.

• Non guidare il veicolo con sporco, sabbia o ghiaia fine che potrebbero danneggiare le parti mobili.

EN71 standard.



Coche de Juguete
para Niños

341-027

• Apto paramás de 3 años
• Pesomáximo del usuario: 30kg
• Requiere montaje de adultos

MANUAL DE USUARIO
Lea y entienda este manual completamente antes de usar!

Conserve este manual para futuras referencias, ya que contiene
información importante.



Tabla de Contenido

1. Sobre tu nuevo vehículo

2. Lista de piezas

3. Pasos de montaje

4 Cómo operar su vehículo

5. Mantenimiento de su vehículo

Sobre su nuevo vehículo
Gracias por comprar nuestros productos, queremos que su hijo disfrute de este

producto durante muchos años.

Tenga en cuenta estos puntos cuando lea esta guía:

ADVERTENCIA!
PARA LA SEGURIDAD DE SU HIJO, LEA TODAS LAS ADVERTENCIAS E

INSTRUCCIONES DE MONTAJE / USO. GUARDE ESTA GUÍA PARA FUTURAS REFERENCIAS.
• MONTAJE REQUERIDO POR UN ADULTO. El producto contiene piezas pequeñas, que son
sólo aptas para el montaje por adultos. Mantenga a los niños pequeños alejados al realizar el
montaje.
• Retire siempre el material de protección y las bolsas de polietileno y deséchelas antes del
montaje.

Edad adecuada: 3+ años
Capacidad de carga: Menos de 30 Kg
Tamaño del coche: 800 * 490 * 500 mm
Tamaño del cartón: 800 * 250 * 510 mm

Material: PP, HIERRO Optima
Temperatura:

Debajo de 40°C
evite el uso bajo el sol
ardiente



Lista de Partes

PART
E NO

NOMBRE DE
PARTE
NAME

IMAGEN PZS
PART
E NO

NOMBRE DE
PARTE
NAME

IMAGEN PZS NOTAS

1 Cuerpo del
vehículo 1 2 Asiento 1

3 Volante de
condución 1 4 Tablero 1

5 Tubo lineal 1 6 Eje de
dirección 1

7 Tablero fijo 1 8
Tornillo
M5 x 55 2

9
Tornillo
M5x40 1 10 Tuerca M5 2

11
Arandela
M5X14 2 12 Tuerca M5 1

13 Tornillo
M4X10 4 14 Manual de

Instrucción 1



Pasos de Montaje
1. Coloque el eje de dirección a

través del orificio en la parte

delantera inferior del vehículo.

Enganche el eje de dirección en

el eje de giro.

2. Ponga el tubo lineal en el eje de

dirección.

3. Coloque el volante a través del eje

de dirección y fíjelo en su lugar con el

tornillo M5 * 40, y el bloqueo en su

posición con una tuerca de 5 mm.



Pasos de Montaje

5. Fije el asiento al chasis del vehículo

utilizando pernos M5 * 55 mm, asegúrese

de usar las arandelas nuevamente cuando

sea apropiado

4. Para ajustar el panel al marco,

asegúrese de que los 2 orificios de los

tornillos en el panel y el marco estén

alineados. Apriete con tornillo M4 * 10

(b)

Posicione el panel fijo con tornillo M4 *

10 (c)



Cómo Operar su Vehículo

ADVERTENCIA!
PREVENGA LESIONES Y MUERTES:
• NUNCA DEJE AL NIÑO DESATENDIDO. SE REQUIERE SUPERVISIÓN ADULTA DIRECTA.
Siempre mantenga al niño a la vista cuando esté haciendo uso del vehículo.
• Nunca lo utilice en carreteras, cerca de automóviles, en o cerca de pendientes o escalones
empinados, piscinas u otros cuerpos de agua.
• Siempre use zapatos.
• Siéntate siempre haciendo uso del asiento.
• Apto para mayores de 3 años. El peso máximo del usuario es 30 kgs.
• No debe utilizarse en el tráfico.
• Una recomendación para la supervisión adulta de niños pequeños.
• El juguete debe usarse con precaución ya que se requiere habilidad para evitar caídas o
colisiones, causar lesiones al usuario o a terceros.

Debe confirmar antes de usar un trabajo que ya está terminado:
• Acabado de ensamblar el auto completo de acuerdo con los pasos descritos en el manual.
• Todos los lugares donde se necesita tornillos garantizan que el tornillo ya ha sido bloqueado.
Reglas para una conducción segura:
¡LEA ESTAS REGLAS EN VOZ ALTA A SU HIJO Y A SUS COMPAÑEROS DE JUEGO Y ASEGURESE DE
QUE LAS COMPRENDEN!
• Este juguete no es descanso. Siempre use un casco y ropa protectora al conducir.
• Se requiere supervisión directa de un adulto.
• Mantenga a los niños dentro de áreas seguras.
• Nunca conduzca en una carretera, cerca de vehículos motorizados, en espacios de césped, en
pendientes o escalones empinados, piscinas u otros cuerpos de agua.
• Utilice el juguete solo en superficies planas tal como dentro de su casa, jardín o parque
infantil.
• Nunca use en la oscuridad. Un niño podría encontrar obstáculos inesperados y tener un
accidente. Opere el vehículo solo en el día o en una zona bien iluminada.
• No se recomienda conducir el vehículo en superficies mojadas o en pendientes de más de 15
grados.
• No use este vehículo al aire libre cuando esté lloviendo o nevando.
• Asegúrese de detenerse por completo antes de cambiar de dirección de adelante hacia atrás.
• Siga los límites correctos de peso y edad permitidos para conducir este vehículo.
• Inspeccione las conexiones del vehículo periódicamente.
• Para evitar accidentes, asegúrese de que el vehículo sea seguro antes de conducir.
• No permita que ningún niño toque las ruedas o esté cerca de ellas cuando el automóvil se esté
moviendo.



Mantenimiento de su vehículo
• Es responsabilidad de los padres revisar las partes principales del juguete antes de usarlo,
debe examinar regularmente para detectar posibles peligros, como los tornillos que sujetan
el recinto de otras piezas y que, en caso de que se produzcan daños, el juguete no debe ser
usado hasta que ese daño haya sido removido adecuadamente.

• Asegúrese de que las partes plásticas del vehículo no estén agrietadas o rotas.

• De vez en cuando use un aceite ligero para lubricar las partes móviles, como las ruedas.

• Estacione el vehículo en interiores o cúbralo con una lona para protegerlo del clima
húmedo.

• Mantenga el vehículo alejado de fuentes de calor, como estufas y calentadores. Las piezas
de plástico pueden derretirse.

• No lave el vehículo con una manguera. No lave el vehículo con agua y jabón.

• Limpie el vehículo con un paño suave y seco. Para restaurar el brillo de las piezas de
plástico, use un abrillantador de muebles sin cera. No utilice cera de automóvil. No utilice
limpiadores abrasivos.

• No conduzca el vehículo en tierra suelta, arena o grava fina que podría dañar las piezas
móviles.

Nuestros productos son adecuados para la Normativa
EN71.

EN7ard


